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FOHOANAL &F 400,000 370,000 30,000
FEASHES AL 50,000 50,000 0
401 Al B2 2B 50,000 50,000 0
01 A& HI 49,460 49,460 0
OZEE ME+ ALY 49,460,000& 49,460
03 Al 20 HI 540 540 0
OZXE ME=+ ALY 50,000, 000& *1.08/100 540
A2 FOUSE ALY 150,000 150,000 0
401 Al& Bl & 28I 150,000 150,000 0
01 A& HI 148,380 148,380 0
OOt& 17 E= =2 FUIAY 19,784,000& 19,784
OletH17 SHs MAEZHIALY  24,730,000& 24,730
Olsh7 RE s EHIA 19,784,000& 19,784
OdJles B3 s EESA 24,730,000 24,730
OHU Fl& s2EEHZA 29,676,000& 29,676
O s=2ZEIAM 29,676,000 29,676
03 Al 20 HI 1,620 1,620 0
OOE1? &2 =2 ZFHIAMLY
20,000, 000& *1.08/100 216
Olfet17 == MEEUAY
25,000,000 *1.08/100 270
Olfsh= RE s2EHIA
20,000,000 *1.08/100 216
Odll2w B2 sZ2EEIAM
25,000,000 *1.08/100 270
OHU Fl& s2EEEA
30,000,000% *1.08/100 324
OFs s=2ZEIAM 30,000,000& +1.08/100 324
FUS ALY 200,000 170,000 30,000
401 Al&HI & 28I 200,000 170,000 30,000
01 A& HI 197,840 168,488 29,352
OS2 sS2EZFEIA 29,676,000& 29,676
Ol =2 ¥ s EZHEIA 29,676,000 29,676
OLel s2EZFHIA 29,676,000& 29,676
O4F0tE dHEZEISA 19,784,000& 19,784
Ootiiot= Y €H =43 A 19,784,000& 19,784
OXIgl27 0=t ZH B A 19,784,000 19,784
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H
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Cioli ZOIBOIA B3 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OJMEHOtE otZ FHHISAt 29,676,000 29,676
OANMUWAUHE S22 HlI3SA 19,784 ,000& 19,784
03 A& 2 0HH] 2,160 1,512 648
OS2t ST EZHSAH
30,000,000& x1.08/100 324
O =2 ¥ s ZHIA
30,000,000& x1.08/100 324
OkelM s X &3 A 30,000,000 *1.08/100 324
O&aS0I2 EHXHESA
20,000,000& *1.08/100 216
OOdliH0I2 Y &E =4H3A
20,000,000& *1.08/100 216
OXlel27 Dot ZEHIAL
20,000,000& *1.08/100 216
OMEDtE o2 HHISAt
30,000,000& x1.08/100 324
OANMUWAHUHUE S22 3 IS A
20,000,000& *1.08/100 216
HAH2HAY|(JHOFH ) (DIEH/DIE}) 23,470 23,980 AN510
Jl22Z bl 23,470 23,980 AN510
Jl23Hl 23,470 23,980 A510
201 et A | 9,670 10, 180 A510
01 AFR2t2ldl 9,670 10, 180 AN510
OgBt=gH]| 9,670,000 9,670
202 04| 3,000 3,000 0
01 2LHOHI 3,000 3,000 0
O&2 ¢l 3,000,000& 3,000
203 &R =&H| 10,800 10,800 0
01 J|22HLRF=AH| 6,600 6,600 0
OH&E 6,600,000 6,600
04 EMSIHRF=AY| 4,200 4,200 0
ORN2IgI2F&Y| 4,200,000& 4,200
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fAMd: OF2H

A A2 NANL(2ELNGHL/NSL A
S FUHEAAE &5 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
FOHOANY &= 412,093 350,000 62,093
IESHE> A 50,000 50,000 0
ANEHI &2 50,000 50,000 0
01 A& HI 49,460 49,460 0
Og=x2 HE= AtY 49,460,000 49,460
03 A& =TI 540 540 0
Ogx2 HES= AtY 50,000, 000& *1.08/100 540
A28 FLU=F ALY 150,000 150,000 0
401 AIEHI L 2CHEI 150,000 150,000 0
A& HI 148,488 148,488 0
OFU37 Y2 ==Z=HFHIZ A 10,000,000 10,000
Ostg(EUWS)s+=2 EXSA
24,730,000& 24,730
OZZ(StEMAd)=+2 XS A
19,784,000& 19,784
OEZ(MUS) s2ZH3AM 19,784,000 19,784
OR&E2? sti+=2 ZHISA 19,784,000& 19,784
OMEIT s EHIA 19,784,000 19,784
OFU1F Hi==2 &t 34,622,000 34,622
03 AlE 2 THHI 1,512 1,512 0
Ostg (WS )s+2 EXSA
25,000,000 *1.08/100 270
O (SHEMME) =2 EXSAM
20,000,000& *1.08/100 216
OEZ(MUES) s2XEH3AM
20,000,000 *1.08/100 216
O7F27 sti+=2 FHISA
20,000,000 *1.08/100 216
OEIR s2EESAM
20,000,000 *1.08/100 216
OFU17 th==3Hl 35,000,000% *1.08/100 378
FOUSHAY 200,000 150,000 50,000
401 Al HIZ 201 8] 200,000 150,000 50,000
01 A& HI 198,866 149,514 49,352
O&IH27 2317 EX3A 10,000, 000& 10,000
OlE1IR 28717 EX3A 15,000, 000& 15,000
Ox&E12 dA dXSA 19,784,000 19,784
OotH 172 (e sS2E 3 A 24,730,000& 24,730
OLtthe7 ATt EHIZ A 10,000, 000& 10,000
O&FU3F == HHISA 10,000, 000& 10,000
Osotg(22)8e 2&3AM 10,000, 000& 10,000
Odgel adeHZdAd 15,000, 000& 15,000




fAMd: OF2H

HHM: AL NG9WL(2ELXAMNL /XA

e
H
=

S FUHOYAIL &= (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OO0tZ12(MION&EH XS A 19,784 ,000& 19,784
OotBl27 Ot2Hi+=2 &4l 19,784 ,000& 19,784
O2%E12 MAEAUI 10,000,000& 10,000
SE2F HWOIE s L& 19,784 ,000& 19,784
O0FR17? 2SJ/7 4XZA 15,000,000 15,000
03 Al 2 TH bl 1,134 486 648
O7R&17? &A AX3A
20,000,000 =1.08/100 216
OotaE 1R (otat) sZ2 2= A
25,000,000 =1.08/100 270
OO0FZ1R(MON&EH ZHBA
20,000,000& *1.08/100 216
O3otel220tE =2 &bl
20,000,000& *1.08/100 216
OSE2F HHos s2EH
20,000,000& *1.08/100 216
Hesda &2 12,093 0 12,093
101 @121l 1,593 0 1,593
04 JI2ZtHI 22 XNEE S 1,593 0 1,593
OMsza 22 o2 1,593
—-J|I=23 41,6803 1 %29 1,209
- F54+Y 41,6802 %125 %52 209
—4EE = 1,418,000& x12.3% 175
206 M= Hl 500 0 500
01 24l 500 0 500
OM=s2d 22l &2 2 500,000& 500
401 AIEHI L 20| 10,000 0 10,000
01 A& 10,000 0 10,000
ONMEs3d &el At 10,000,000& 10,000
HAHSHAY| (0F2HH ) (IIEH/DJIE 20,740 20,740 0
Jl2& bl 20,740 20,740 0
Jl2&l 20,740 20,740 0
201 2yt 2 Y| 8,140 8,140 0
01 Al 22! H| 8.140 8,140 0
Ogst=2H| 8,140,000& 8,140
202 (4] 3,000 3,000 0
01 2L Y] 3,000 3,000 0
O22 0yl 3,000,000& 3,000
203 ¥R =&XH| 9,600 9,600 0
01 J|22IHRF=XY| 6,600 6,600 0
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SO0

=Z2=d

H: ARL XNGHL(2ELNSMNL/A
=oH ==
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%o
H
=

Sl FUBOIAIL & (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
AR XYL (2ELX ML /XNAL Al 432,587 361,986 70,601
FOIHOIAIE &= 432,587 361,986 70,601
AX2IMNE S A 50,000 50,000 0
401 Al HIL 200 50,000 50,000 0
01 A& HI 49,460 49,460 0
O9xX=2 HES= AFY 49,460,000 49,460
03 AlE 201l 540 540 0
OY9XE HESE AFY 50,000,000 *1.08/100 540
A2 =03 ALY 150,000 150,000 0
401 AIEHIL 201 150,000 150,000 0
01 Al &bl 148,758 148,542 216
A2 E2Z HHISA 10,000,000& 10,000
O28 MN&EEBIS A 24,730,000 24,730
OYol AES =2 HHIZA 24,730,000& 24,730
Ol A NEEHIS3A 15,000,000& 15,000
OFAME Ul S A 24,730,000& 24,730
OZ4aH 2 DtE2dYZ HHI S A 10,000,000& 10,000
O2el s EZE A 19,784 ,000& 19,784
ONMU g3 22 HHISA
19,784 ,000& 19,784
03 A& 20 Y| 1,242 1,458 A216
O28 MAEAXBIS A 25,000,000 *1.08/100 270
Q4o A=2= =2 H-IZ A
25,000,000 *1.08/100 270
SAFE A HIS At 25,000,000& *1.08/100 270
O%tel s LA B A 20,000,000 *1.08/100 216
ONMU g 822 HHI S A
20,000,000 *1.08/100 216
=0 aALS 220,000 150,000 70,000
401 Al HI 2L 2 0HHI 220,000 150,000 70,000
01 A& HI 217,624 148,380 69,244
O33R ot Y =2 FH| 19,784 ,000& 19,784
OMUW =& Xz HH|SA 34,622,000 34,622
Os&l 2ot gz Ul S A 24,730,000& 24,730
OL227 2= HH| S A 24,730,000& 24,730
O=2d MA AFHEHI S A 34,622,000& 34,622
OUa Stll+=2 HHISAM 39,568,000 39,568
ol 2= HEHEUI S A 19,784 ,000& 19,784
=8 M08 s EZESA 19,784,000& 19,784
03 Al& 201 Y] 2,376 1,620 756
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12
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S FOEOAY &5 (25 & @)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O2M3T ot4+E & +2Fb]
20,000,000& *1.08/100 216
OMU =& A2 ZHISA
35,000,000% *1.08/100 378
O2d8 22| M2 ZHISA
25,000,000& *1.08/100 270
ooy =8 ZHISA
25,000,000& *1.08/100 270
O=2d& Ma AHFHIZA
35,000,000% *1.08/100 378
OUd Eti==2 HHISA
40,000,000& *1.08/100 432
O4ol +=2= HEHZUZM
20,000,000& *1.08/100 216
O ZMYOIB S2THIM
20,000,000& *1.08/100 216
33 22 12,587 11,986 601
101 @144 dl 2,087 1,486 601
03 RIAHAZ 2T E =+ 494 0 494
OZRX 2| 2,0002 1% %2472 494
04 JI12ZtHZ22 a2+ 1,593 1,486 107
OMszZe e U 1,593
= 41,6803 1 x29 1,209
— T4 41,6803 x1H+5L 209
—4UEE = 1,418,000 *12.3% 175
206 M= Hl 500 500 0
01 24l 500 500 0
ON=3& 22l &4 g 500,000& 500
401 AIEBIZ 201 8I 10,000 10,000 0
01 Al 10,000 10,000 0
OMsS33d 2l AtY 10,000, 000& 10,000
HHE2AZH(E23H)(JIEH/IIE 20,740 20,740 0
Jl=34l 20,740 20,740 0
Jl23l 20,740 20,740 0
201 Let24d] 8,140 8,140 0
01 At 22l 8,140 8,140 0
O+t 8,140,000 8,140
202 O4dl 3,000 3,000 0
01 = LH 4 bl 3,000 3,000 0
O2&2| Ko Hi 3,000,000& 3,000
203 YR =&t 9,600 9,600 0
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H
=

Cioli ZOIBOIA B3 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
FOIHOIAIE &= 432,093 361,986 70,107
AXIMNE S A 50,000 50,000 0
401 Al B2 2 0HHI 50,000 50,000 0
01 A& HI 49,460 49,460 0
O9xX=2 HES AFY 49,460,000 49,460
03 AlE 2 0] 540 540 0
OY9X=E HESE AFY 50,000,000 *1.08/100 540
A2 =03 ALY 150,000 150,000 0
401 Al HI L 200 150,000 150,000 0
01 A& HI 148,380 148,920 A 540
OEIFZTHRLR F=s=22F 29,676,000& 29,676
ORAHLISHLEH L SHEE S
19,784 ,000& 19,784
ORE=s4+248X & s22H 24,730,000 24,730
OAMAX SHDISHAI 24,730,000& 24,730
OMs3d XA 19,784 ,000& 19,784
OZEASHE mets A x| 29,676,000& 29,676
03 A& 2 0HbI 1,620 1,080 540
OSEZTHRYA Fs=22dy
30,000,000& x1.08/100 324
ORAHDIS2EEY L SIHALE S
20,000,000 *1.08/100 216
ORE=4+28% ¥ =225
25,000,000 *1.08/100 270
OAXTHXR 8Z30I3tAFE 25,000,000 *1.08/100 270
OM=s3d EX&EX 20,000,000 *1.08/100 216
OEAGHA TOet® & Xl
30,000,000& x1.08/100 324
FOIHA ALY 220,000 150,000 70,000
401 Al HIL 201 220,000 150,000 70,000
01 Al &bl 217,624 148,682 68,942
OZHAE = UMY 19,784 ,000& 19,784
O&Eie| Aot A 29,676,000 29,676
OArE m~0t2t ) 4Hzh 2 JH| 39,568,000& 39,568
OUlsioiEs 2 =HAEH ALY 49,460,000 49,460
Ooguer2 3| 19,784 ,000& 19,784
OO0t Ml & A HI 19,784 ,000& 19,784
OxHus g2 Hb| 19,784 ,000& 19,784
OZAHOIHE=Z LEZA 19,784 ,000& 19,784
03 Al&E 201l 2,376 1,318 1,058
OZHAE F=H FUIAMY
20,000,000 =1.08/100 216
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SN FHE - B(SA) - MEAY - BHES e
O"iel Aot Al 30,000,000% *1.08/100 324
OAMZu~0t2n AMIAY]
40,000,000 *1.08/100 432
OUsitSal &2 =HFHAY
50,000, 000& *1.08/100 540
Odier2 &l 20,000,000& +1.08/100 216
OO0t I & F HI 20,000, 000& =1.08/100 216
O=JHuns 82 FH
20,000, 000% *1.08/100 216
OFHOIHEZ ZTEIA
20,000, 000% *1.08/100 216
Hs3d 2el 12,093 11,986 107
101 1A dl 1,593 1,486 107
4 JI2ZtHZE2EXREES 1,593 1,486 107
OMs3d Zel o2y 1,593
—Jlas 41,6803 1 29 1,209
—xgay 41,6808 x1 2 *5 209
—4HEE = 1,418,000& *12.3% 175
206 M= Hl 500 500 0
01 =8l 500 500 0
OM=s3d a2 94X 2 500,000& 500
401 Al BIZ 201 8] 10,000 10,000 0
01 A& HI 10,000 10,000 0
OMsS33 2 At Y 10,000, 000& 10,000
HY2AZHI (Z=AHH)(IIEHIIE) 21,250 21,250 0
=3l 21,250 21,250 0
Jl2ztl 21,250 21,250 0
201 Let2d] 8,650 8,650 0
01 At 2teltl 8,650 8,650 0
OgBt=&H| 8,650,000 8,650
202 O4dl 3,000 3,000 0
01 SLHAYI 3,000 3,000 0
O2&2| K Hl 3,000,000& 3,000
203 R F=&H| 9,600 9,600 0
01 J22ZFR2 =8I 6,600 6,600 0
o 6,600,000 6,600
04 EANSSHRFEHI 3,000 3,000 0
OFRN2IYS =2 3,000, 000& 3,000
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S

=L E i;g N (FELT ML /N ALEAI)
Sl FOIBOAL BB (S &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
FUHYAL &5 420,000 350,000 70,000
AESHES A 50,000 50,000 0
401 AIEBIL 2 CHEI 50,000 50,000 0
01 Al &t 49,460 49,460 0
OZx2 HE= AY 49,460,000 49,460
03 Al 2 HHI 540 540 0
OFxX2S MHE= ALY 50,000,000 «1.08/100 540
A2 FU=SF MY 150,000 150,000 0
401 AIEHIZ 2 THYI 150,000 150,000 0
01 A€ Hl 148,704 148,596 108
OArZ0tE & =2 FHl 19,784,000& 19,784
O#MEAMN &+ =2 FH| 19,784,000 19,784
OdZsd=s2 &2 Y 19,784,000 19,784
OF=Xa2 & oted Y X3 M
19,784,000& 19,784
O&FH =2 FHISAM 15,000,000& 15,000
OAE HHHHISA 15,000,000 15,000
OEY S2EH M 19,784,000& 19,784
Obt=¢ ot+==7 FHAY 19,784,000 19,784
03 AlE 2 THHI 1,296 1,404 A 108
OA0tE & Bi+=2 FHl
20,000,000 +1.08/100 216
O#EAMN &+ ti+=2 FHl
20,000,000 +1.08/100 216
OdEsEd==2 &XF  20,000,0002*1.08/100 216
O==X3a2 & JtEdg ZX3A
20,000,000% *1.08/100 216
OFe =2 EF ZAb 20,000,000 «1.08/100 216
O0t=¢% ot+=7 FHIAL
20,000,000 +1.08/100 216
FOIH Y ALY 220,000 150,000 70,000
401 AIEBIZ 2 CHYI 220,000 150,000 70,000
01 A€ dl 217,624 148,380 69,244
Sg=AFA 2 ot EH 19,784,000& 19,784
ONEg SZEH ZA 19,784,000& 19,784
Ofs¢sS =2 &l 29,676,000 29,676
OZ+=2 SHETIAM 19,784,000 19,784
O2+dUEZ I LER € =23
29,676,000& 29,676
OFse sZHE A 19,784,000 19,784
OZENE ELXSAM 19,784,000& 19,784
OHE=SZ ZHIAEY 19,784,000 19,784
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S FOEOAY &5 (25 & @)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O2AOIE =2 ZHIAY 19,784,000 19,784
OER0IS3 & UEBZL SEZA
19,784,000 19,784
03 Al 20 HI 2,376 1,620 756
O AR & otdEHI
20,000,000 *1.08/100 216
ONg =s=2Z& 3 A 20,000,000& *1.08/100 216
OS¢ E i==2&bHl 30,000,000 x1.08/100 324
OB4s2 STH ZA
20,000, 000% *1.08/100 216
Oa=ZUEZ IIEULEX & ET2FHHI
30,000,000& *1.08/100 324
O7sd sZ2HE SA
20,000, 000& =1.08/100 216
OFENE BHX3 A 20,000,000 *1.08/100 216
OHEs=Z FHIAY 20,000, 000% *1.08/100 216
O2AOIE =2 MHIAtS
20,000,000 *1.08/100 216
OZ30IS3 & UEBZ L SEBA
20,000,000& *1.08/100 216
HHE2HZ (A )(IIEH/IIE) 20,740 20,740 0
Jl234l 20,740 20,740 0
JIE23l 20,740 20,740 0
201 LBH2E| 8,140 8,140 0
01 At 22l 8,140 8,140 0
O e8| 8,140,000 8,140
202 oddl 3,000 3,000 0
01 = LH 4 1l 3,000 3,000 0
O 22 ¢ di 3,000, 000& 3,000
203 PR =&l 9,600 9,600 0
01 J22F P2 =8| 6,600 6,600 0
osE 6,600,000& 6,600
04 NI 3,000 3,000 0
ORAN2EIRFEHI 3,000,000& 3,000
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2M: <

= 2 o
HE: AR NANL(RELNANL/NALTAI)
Sl FOIBOAL BB CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
FOIHOIANAE &= 400,000 350,000 50,000
AXSBMEL ALY 50,000 50,000 0
401 AlEHIZ 2 0HY| 50,000 50,000 0
01 Al&H| 49,460 49,460 0
O¥XE MHES AIY 49,460,000 49,460
03 Al 20| 540 540 0
OZYXE MHES AIY 50,000,000 *1.08/100 540
AHE F0=@ ALY 150,000 150,000 0
401 Al HI L 204 HI 150,000 150,000 0]
01 Al&H| 148,380 148,488 A 108
OS20IS =2 EXZ2A 24,730,000 24,730
OUsAFA Mgz LEAZA 19,784,000 19,784
OStLUZSEHD ¢ 57 &I
29,676,000& 29,676
OXZE IS s2 MEZEZA 24.,730,000& 24,730
OS2 HXIEES2 EX2A
19,784 ,000& 19,784
Ouietmg T2 M= A Z2A 29,676,000 29,676
03 A& E2HH]| 1,620 1,512 108
OSR0I2 =2 EXZ2A
25,000,0002 x1.08/100 270
OUsSARA Nz ILAEAZA
20,000,000% %1.08/100 216
Ostdzsstn ¥ =7 HXZA
30,000,000 «1.08/100 324
OXF I s2 MEZEZBA
5,000,000 «1.08/100 270
OUistiz=Z HXEES EXZ2A
20,000,0002 x1.08/100 216
OMYZ CRY M5 HXTA
30,000,000 «1.08/100 324
FOIGaAIS 200,000 150,000 50,000
401 AlEHIZL 2 0HY| 200,000 150,000 50,000
01 Al&EH| 197,840 148,488 49,352
ON=0tE NI TAE 8X2A
19,784,000 19,784
OXF0I2 SHsS Aot AHlSA
39,568,000 39,568
O=ssis o2 S Z2A 19,784 ,000& 19,784
OdYbiolES Aotd FH|lZ2A 19,784,000 19,784
OXS0ts ot MEEZAH 19,784 ,000& 19,784
OUisots 8¢ a2 HE2AZA
19,784 ,000& 19,784
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SN E3e
HE: ARD MWL (RELTN WL /MDA
Fom =

ek oA =E (29l 8)
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OUUAZEK =2 B3 At 19,784,000 19,784
O=2=30t2 =8 28 ZE3A 19,784,000 19,784
O=230t2 Jte =2 EHI3A 19,784,000 19,784
03 Al 20 HI 2,160 1,512 648
ONM=0tE XSS TME EX3A
20,000,000 *1.08/100 216
OXF0IS =SMsS AotE U SA
40,000, 000% *1.08/100 432
O=s0s etz =3 A
20,000, 000% *1.08/100 216
OYtibtES ASHE Ul S A
20,000, 000& *1.08/100 216
OXS0IS ¢tz MEZHIA
20,000, 000& =1.08/100 216
Ols0s 8¢ a2 B 3A
20,000,000 *1.08/100 216
OMUAZXK =2 23 A
20,000, 000% *1.08/100 216
o230t =8 s2 ZZZAM
20,000, 000% *1.08/100 216
O=2=30t8 It s2 FdlZA
20,000, 000% *1.08/100 216
HHY2HAZH (A=) (IIEH/DIIE) 20,230 20,230 0
JlEZl 20,230 20,230 0
JIE23l 20,230 20,230 0
201 L2l 7,630 7,630 0
01 At 22l 7,630 7,630 0
O el 7,630,000 7,630
202 odl 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
O 22 ¢ bl 3,000,000& 3,000
203 PR =&l 9,600 9,600 0
01 J|22F P2 =8| 6,600 6,600 0
oz 6,600,000 6,600
04 FN2ILSFAH 3,000 3,000 0
ORAN2EIRFEHI 3,000,000& 3,000
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2N BAH
M AMMHTE SH(UBZITUT/UBHT)
©e: AMMYEE 2o (ol &e)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | | PEEEI 33,600,000% 33,600
AR XNANL(ZELXNANL/XNALEAI) 412,093 350,000 62,093
FOBOAL =5 412,093 350,000 62,093
AXSWES ALY 50,000 50,000 0
401 AlEHIZL 2 THHI 50,000 50,000 0
01 Al& | 49,460 49,460 0
OPxE2 HES A 49,460,000 49,460
03 Al& S THHI 540 540 0
OAXS WE4 AFY  50,000,0002 *1.08/100 540
ARR Fo=A ALY 150,000 150,000 0
401 A2 HIZL 2 OHHI 150,000 150,000 0
01 Al& bl 148,380 148,380 0
OU= 42| 29,676,000 29,676
O=XNE s20H 19,784,000 19,784
OUEXAR HTX 29,676,000 29,676
0= 242 Fy 29,676,000 29,676
O=2e2l LY 19,784,000 19,784
UE A=Y 19,784,000 19,784
03 Al& =2l 1,620 1,620 0
OUs 2=l 30,000,000 *1.08/100 324
O=XE s2ux 20,000,0002 *1.08/100 216
WERQ ST 30,000,0008+1.08/100 324
2= 242 Fy 30,000,000 +1.08/100 324
O=2el LY 20,000,0002 *1.08/100 216
OUE A=Y 20,000,0002 *1.08/100 216
FOIHYALY 200,000 150,000 50,000
401 AlEHIZL 2 THHI 200,000 150,000 50,000
01 Al& | 197,840 148,380 49,460
ST =22 39,568,000 39,568
O=2s o2l 39,568,000 39,568
OQatst ol Xyl 29,676,000 29,676
OZPB =522% 29,676,000 29,676
O 22 =25F 29,676,000 29,676
Ou2E 52 HEx 29,676,000 29,676
03 Al& S THHI 2,160 1,620 540
OF= 522% 40,000,0002! *1.08/100 432
O=2= ALY 40,000,0002 *1.08/100 432
OQatst otz Xyl 30,000,000 *1.08/100 324
OX2PB =21H 30,000,000 +1.08/100 324
OFA 22 =S2IF  30,000,0002 *1.08/100 324
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(=R Ry}

H: AR2 NGRS (BELNANL/NAY

H
=

Sl FOIBOAL BB (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

Ooad2s =2 &XZ&  30,000,000&*1.08/100 324

Hs332el 12,093 0 12,093

101 @124l 1,593 0 1,593

04 D12t 22 s+ 1,593 0 1,593
OMs3d Zel o2y 1,593
—Jles 41,6803 «1 x29 1,209
—FE4Y 41,6802 * 1% x5 209
— 42 = 1,418,000& *12.3% 175

206 M= Hl 500 0 500

01 =8l 500 0 500
ON=3& 22| &4 g 500,000 500

401 AIEHI L 201 10,000 0 10,000

01 A& Bl 10,000 0 10,000
OMsS33d 22 At Y 10,000, 000& 10,000

HHE2AZH (B H)(IIEH/IIE) 20,740 20,740 0

Jl=&l 20,740 20,740 0

Jl=dl 20,740 20,740 0

201 Let24dH] 8,140 8,140 0

01 At 22/l 8,140 8,140 0
OB+t 8,140,000 8,140

202 O4dl 3,000 3,000 0

01 = LH 4 Hi 3,000 3,000 0
O22 Kbl 3,000,000& 3,000

203 YR =2t 9,600 9,600 0

01 JI22H =8 6,600 6,600 0
osd 6,600,000& 6,600

04 FN2ELRZLH| 3,000 3,000 0
ORN2IYSZ=AHI 3,000,000& 3,000
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2N HEH
M UMBHTE S (YT ITHE /UABAE)
©e: AMMYEE 2o (ol &e)
SA-ES O (BH) - ALY - HES Ol & 04 SSa HDS2
| | PEEEI 31,200,000% 31,200
AR XNANL(ZELXNANL/XNALEAI) 412,093 361,986 50,107
DIBOAIL &5 412,093 361,986 50,107
AXSWES ALY 50,000 50,000 0
401 AIEHIZ 2 THHI 50,000 50,000 0
01 Al& | 49,460 49,460 0
OAEZS HEL AY 49,460,000 49,460
03 Al& =2t 540 540 0
OAXS WE4 AFY  50,000,0002 *1.08/100 540
AL Fo=E ALY 150,000 150,000 0
401 AIEHIZ 2 THH| 150,000 150,000 0
01 Al& bl 148,380 148,704 324
ONENE HUIBA 29,676,000 29,676
OYBE 42 HHIZA 39,568,000 39,568
OOtS2H Ful(4H4) 29,676,000 29,676
O2o =2 HLFBA 19,784,000 19,784
O=X 32 =8 Y ZA 29,676,000 29,676
03 Al& S Tl 1,620 1,296 324
OFEMA HHIZA  30,000,0002 *1.08/100 324
OH2E 42 U2
40,000,0002 *1.08/100 432
OOtS&H Ful(4H4)
30,000,000 +1.08/100 324
O2o 52 HLFBA
20,000,0002 *1.08/100 216
O=X 32 =8 Y ZA
30,000,000 +1.08/100 324
FOIH ALY 200,000 150,000 50,000
401 AlEHIZL 2 0HH| 200,000 150,000 50,000
01 Al& bl 197,840 148,650 49,190
OLZA IS 5244 29,676,000 29,676
OaR 2o 427l 29,676,000 29,676
OFSY sANT S22 =l
39,568,000 39,568
0% HES =72 HY| 29,676,000 29,676
ORI ¥ A2 Hi 19,784,000 19,784
=D 52 242 A 49,460,000 49,460
03 Al& S ThHl 2,160 1,350 810
OLRA SIS =24
30,000,000 +1.08/100 324
Oa® 29 W42l
30,000,000 +1.08/100 324
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SN MBS
HM: AR NGNS (2ELXNGENL /NS L Al
Sl EOIMOAML =5 CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Orled sgX+ Eti=g2 34|
40,000,000 =1.08/100 432
osdl S =&8gz Y|
30,000,000& =1.08/100 324
O22ldn & 233 Y|
20,000,000 *1.08/100 216
OF1] s Ex2A 50,000,000& *1.08/100 540
Hesa 22 12,093 11,986 107
101 @121l 1,593 1,486 107
04 JI2ZtH2Z2XNEE S 1,593 1,486 107
OMsza 22 o2 1,593
—-J23 41,6803 1 29 1,209
- F84+Y 41,6802 %125 %52 209
—4AEE = 1,418,000& x12.3% 175
206 M= Hl 500 500 0
01 X2 bl 500 500 0
ONEs23 &2 < 2 500,000 500
401 Al HIL 201 10,000 10,000 0
01 A& bl 10,000 10,000 0
OM=s3d Zel At 10,000,000& 10,000
HHSHBU(HSH)(IIEH/IIE 20,230 20,230 0
DIR= sl 20,230 20,230 0
Jl&l 20,230 20,230 0
201 LEt2 Y| 7,630 7,630 0
01 AR 22| bl 7,630 7,630 0
Ogst=2H| 7,630,000& 7,630
202 4] 3,000 3,000 0
01 =2LHOHI 3,000 3,000 0
O22 0yl 3,000,000& 3,000
203 R =&lY| 9,600 9,600 0
01 J|22F PR =AY 6,600 6,600 0
OHE 6,600,000& 6,600
04 2SI L RF=AH| 3,000 3,000 0
ENSIH R =AY 3,000,000& 3,000
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2M e
M AMMHTE SH(UBZITUT/UBHT)
©e: AMMYEE 2o (ol =)
SA-ES O (BH) - ALY - HES Ol & 04 SSa HDS2
| | | PEEEI 33,600,000% 33,600
AR XNANL(ZELXNANL/XNALEAI) 400,000 350,000 50,000
FOBOAL =5 400,000 350,000 50,000
AZSWES AY 50,000 50,000 0
401 AIEHIZ 2 THHI 50,000 50,000 0
01 Al& | 49,460 49,460 0
OAEZS HEL AY 49,460,000 49,460
03 Al& S THHI 540 540 0
OAXS WE4 AFY  50,000,0002 *1.08/100 540
ARR Fo=A ALY 150,000 150,000 0
401 AIEHIZ 2 THH| 150,000 150,000 0
01 Al& bl 148,380 148,380 0
OOt®E0tS 2E &XB 19,784,000 19,784
OFX =2 HEZA 19,784,000 19,784
O/IDIS o+ SHE T A 29,676,000 29,676
OdtEel OS82 =9 HUIZA
19,784,000 19,784
O AIS AdtaE EHIZA 19,784,000 19,784
ORZ0S & FHIZA 19,784,000 19,784
OatSel OS2 26 &XTA 19,784,000 19,784
03 Al& S THHI 1,620 1,620 0
OOHED0IS 2EH &X S A
20,000,0002 *1.08/100 216
OFX S2 HWEZ A 20,000,0002 *1.08/100 216
OAINDIS o2 =HETA
30,000,000 *1.08/100 324
OBtEel 0282 =8 FHUIZA
20,000,0002 *1.08/100 216
OUA AIS ABHE FHIZA
20,000,0002 *1.08/100 216
ORZ0tS &2 U ZA
20,000,0002 *1.08/100 216
OatSel OS2 26 &XZA
20,000,0002 *1.08/100 216
FOIG YA 200,000 150,000 50,000
401 AIEHIZ 2 THH| 200,000 150,000 50,000
01 Al& bl 197,840 148,380 49,460
OFU0S or2 WEETA 29,676,000 29,676
OR= 42 =UIZA 19,784,000 19,784
OHY MSZH HHIZA 29,676,000 29,676
ONS T2 T IERTA 29,676,000 29,676
OdtEel A A 29,676,000 29,676
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2N
X ZH -
L= B

el

Here

A2

=oim

NS (ZEL N LML /XL
SIANE =E

5 - 4
SN FHE - B(SA) - MEAY - BHES e
OFAMNOE AU XA 29,676,000 29,676
Oct30tE =2 ZESA 29,676,000& 29,676
03 AIE 2 0HHI 2,160 1,620
OFA0IS 2¢Z MEHESA
30,000,000% *1.08/100 324
Of2 =2 HHISAt
20,000,000& *1.08/100 216
Ol MES¥ HHISA
30,000,000% *1.08/100 324
OAsS g2 M ZHEISA
30,000,000% *1.08/100 324
Odt&el A HHIZA
30,000,000% *1.08/100 324
OSA0IE 2nd X 23A
30,000,000% *1.08/100 324
O30S 52 ZESA
30,000,000% *1.08/100 324
HY2AZHI(CHYH)(JIEHIIE 20,740 20,740
Jl=234l 20,740 20,740
Jl23Hl 20,740 , 740
201 Let249] 8,140 , 140
01 At 22/l 8,140 , 140
Oget==EH| 8,140,000 8,140
202 oddl 3,000 ,000
01 = LH o4 1l 3,000 ,000
O&2| o Hi 3,000,000& 3,000
203 R F=&H| 9,600 ,600
01 I 22H =8| 6,600 ,600
O 6,600,000 6,600
04 2SI LRI 3,000 ,000
ORN2IYS =2 3,000,000& 3,000
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S Aol
B A7R2 NANL(RELTANL/NALE Al
Sl FOIBOAL BB (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
FOHOANY &= 420,000 350,000 70,000
IESHE> A 50,000 50,000 0
401 A& HI K 201 I 50,000 50,000 0
01 A& HI 49,460 49,460 0
Og=x2 HE= AtY 49,460,000 49,460
03 A& =TI 540 540 0
Ogx2 HES= AtY 50,000, 000& *1.08/100 540
A28 FLU=F ALY 150,000 150,000 0
401 AIEHI L 2CHEI 150,000 150,000 0
01 A& tl 148,380 148,380 0
Odfel Etl=2 HHIZA 24,730,000& 24,730
O E+2 HHIZAM 24,730,000 24,730
O&I17 3 =2 FHI3A
24,730,000 24,730
O=s 0ISF s2 ZE3AM 24,730,000& 24,730
O=d Ot g == HHISA 24,730,000 24,730
OCHHl =2 HHISAt 24,730,000& 24,730
03 AlE 2 THHI 1,620 1,620 0
Odlel =2 HHISA
25,000,000& *1.08/100 270
O =2 HHIZAM
25,000,000 *1.08/100 270
OB =S Ei+==2 HHISA
25,000,000 *1.08/100 270
O=s 05 =2 ZFSA
25,000,000 *1.08/100 270
O=A Otz =2 HUISA
25,000,000 *1.08/100 270
OCQHAHl =2 HHIZA
25,000,000 *1.08/100 270
oA 220,000 150,000 70,000
401 AIEHI L 20HEI 220,000 150,000 70,000
01 A& Hl 217,624 148,704 68,920
OTT27 WASY SZTHIA
19,784,000 19,784
O= MH&E HHISA 19,784,000& 19,784
O&8X17 =2 ZHISA 24,730,000 24,730
Ostal Eti=2 ZHISA 24,730,000& 24,730
o222 s Z&E3A 19,784,000 19,784
OO0l M&E HHISA 24,730,000& 24,730
O HMEIEH &L ZHIA 24,730,000 24,730
O&xes s2 ZEIA 19,784,000& 19,784




o4
;_;_ NNEANW(ZEL RGN /XNESL Al
QIEHOIANAE &5
K- B S (3H) - MBAY - B 0 4t 04 il
OY =2 N& -l 3A 19,784 ,000& 19,784
OO It ot HHI3A 19,784 ,000& 19,784
03 A& 2 0HH] 2,376 1,296
OB27 HHASE SREITA
20,000,000 *1.08/100 216
Ogs MN& JHlI3A 20,000,000& *1.08/100 216
O"X17 Sti=2 ZHl 3 A
25,000,000& *1.08/100 270
Ootal Et+==2 HHISA
25,000,000& *1.08/100 270
O3 s ZTHZ2A 20,000,000 *1.08/100 216
OO0l M& AUl S Al 25,000,000& *1.08/100 270
O&H HEEH L ZLEZ2A
25,000,000& *1.08/100 270
OgX27 s8 ZLEBA
20,000,000& *1.08/100 216
OY =2 MN& -l 3A 20,000,000 *1.08/100 216
OO I ot+=+ HBISA
20,000,000 *1.08/100 216
HESHAM (N H)(DIEHDIIE}) 20,740 20,740
Jl2& bl 20,740 20,740
JlE2&l 20,740 20,740
201 L2 Y| 8,140 8,140
01 AFR2t2l bl 8,140 8,140
Oget=2H| 8,140,000& 8,140
202 (4] 3,000 3,000
01 2L Y] 3,000 3,000
O22 0yl 3,000,000& 3,000
203 ¥R =&t 9,600 9,600
01 J|22IHR=XY| 6,600 6,600
OHE 6,600,000 6,600
04 EANSHLRF=AH| 3,000 3,000
ORNMS2gI2F=&Y| 3,000,000& 3,000
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S AL
HY: APRD NANL(ELTANL/X

12
%o
H
=

©: FLUEAAIL Ej% (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

FOHOANY &= 432,093 361,986 70,107

IESHE> A 50,000 50,000 0

401 A& HI K 201 I 50,000 50,000 0

01 A& HI 49,460 49,460 0
Og=x2 HE= AtY 49,460,000 49,460

03 A& =TI 540 540 0
Ogx2 HES= AtY 50,000, 000& *1.08/100 540

A28 FLU=F ALY 150,000 150,000 0

401 AIEHI L 2CHEI 150,000 150,000 0

01 A& tl 148,380 148,509 2129
O=Y=EW=2 3| 29,676,000& 29,676
Ossdisz2Ld 24,730,000 24,730
OaEOtHE=Z2ZEE 24,730,000& 24,730
O2E Eth+== 3l 24,730,000 24,730
O=ZHZ =2 34| 24,730,000& 24,730
OEZYEEH & =23l 19,784,000& 19,784

03 A& =2 THHI 1,620 1,491 129
O=Y=EH=2FH| 30,000,000% *1.08/100 324
O N=s2LH 25,000,000& *1.08/100 270
OaEllHEs=2 & 25,000,000& *1.08/100 270
OEE EtH==3Hl 25,000,000& *1.08/100 270
O=ZHZ =2 &Hb| 25,000,000 *1.08/100 270

OEHZYFEH & =23l

20,000,000 *1.08/100 216

FUS ALY 220,000 150,000 70,000

401 Al HI L 2T 220,000 150,000 70,000

01 A& HI 217,624 148,704 68,920
OXYg = =2 34| 24,730,000& 24,730
ONsS=s2EEIA 29,676,000& 29,676
OtDIsZ2EZE & =2 FHl 19,784,000& 19,784
OUZ =2 & 4l 24,730,000& 24,730
OZttesz22d 29,676,000 29,676
OnL=s22d & ti==2FbHl 19,784,000& 19,784
Oz=cdlszx® 19,784,000 19,784
ORsSti=2 &l 29,676,000& 29,676
O&s38dHx S 19,784,000 19,784

03 Al 2 0HHI 2,376 1,296 1,080
OXYg = =2 34| 25,000,000 *1.08/100 270
OXNsSs2EEIA 30,000,000 x1.08/100 324
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S At
H: AR2 NGRS (BELNANL/NAY

H
=

Sl EOIMOAML =5 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OtllszZ & & =23l
20,000, 000% *1.08/100 216
OUZ == &l 25,000,000 *1.08/100 270
O2MZ2=s22H 30,000,000% *1.08/100 324
ON==sz22d & =2 FH|
20,000,000& *1.08/100 216
O3c=s22EH 20,000, 000& =1.08/100 216
OxRsSti=2 & | 30,000,000% *1.08/100 324
O&s38dHxH 20,000, 000% *1.08/100 216
Hs3d 2el 12,093 11,986 107
101 14l 1,593 1,486 107
4 D12t ZE2XRHEES 1,593 1,486 107
OMs3d Zel 22y 1,593
—Jlas 41,6803 1 29 1,209
—F5d 41,6803 x1H+5L 209
— 428 = 1,418,000& *12.3% 175
206 M= Hl 500 500 0
01 =8l 500 500 0
OM=s3d &2 4= 500,000 500
401 AIEHI L 2 CHYI 10,000 10,000 0
01 A& HI 10,000 10,000 0
OMsS33 22 AtY 10,000, 000& 10,000
HY2FZH(&IHH)(JIEHIIE) 23,470 22,960 510
Jl23&dl 23,470 22,960 510
JlE2&l 23,470 22,960 510
201 Let2d] 9,670 9,160 510
01 At 22l 9,670 9,160 510
Oget=&H| 9,670,000 9,670
202 O4dl 3,000 3,000 0
01 = LH YI 3,000 3,000 0
O22 Kbl 3,000,000& 3,000
203 YR =& 10,800 10,800 0
01 )22 =4 6,600 6,600 0
ogd 6,600,000& 6,600
04 FENSELR=LH| 4,200 4,200 0
OFRN2IEYS =2 4,200,000& 4,200
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FUHYALE &5 400,000 370,000 30,000
SESHE= A 50,000 50,000 0
401 AIEHIZ 2 I 50,000 50,000 0
01 A€ dl 49,460 49,460 0
OIS MHES A Y 49,460,000 49,460
03 Al S THHI 540 540 0
OZXS MHE= A 50,000,000 x1.08/100 540
A2 FEU=SE MY 150,000 150,000 0
401 AIEHIZ 2 CHYI 150,000 150,000 0
01 A€ dl 148,380 148,380 0
OS=sZEZLESA 29,676,000& 29,676
ANSZEHEIHIAM 29,676,000 29,676
OUESZEELHESA 29,676,000& 29,676
OZUs+=2EHHISA 29,676,000& 29,676
FUHSZEHIIIA 29,676,000& 29,676
03 Al 2 THHI 1,620 1,620 0
SSsZEHIZTHEI A 30,000,000 +1.08/100 324
OAAN=Z&EZEFSA 30,000,000 «1.08/100 324
OMSE=Z2 & ZZHIZ AL 30,000,000 «1.08/100 324
OXU=s+=2&HISA  30,000,000& +1.08/100 324
OF&=Z2& ZZ I AL 30,000,000 «1.08/100 324
Fo YA 200,000 170,000 30,000
401 AIEBI L 2CHEI 200,000 170,000 30,000
01 A& dI 197,840 168, 164 29,676
OU==s=28ZZ I A 29,676,000 29,676
OSIIECINsZ2HZESA 19,784,000 19,784
OZHsZEEZHESA 19,784,000& 19,784
O=SXStH=2ZHI S At 29,676,000& 29,676
OS=sZEELESA 19,784,000& 19,784
OBLsZELYSA 29,676,000 29,676
OUMSZEZHSA 19,784,000& 19,784
OS &t =2 FHHI S A 29,676,000 29,676
03 Al& £ CHHI 2,160 1,836 324
OUZ==2& ZE 3 AL 30,000,000 «1.08/100 324
OSINECINsZHEZHESA
20,000,000% +1.08/100 216
OZH==2=ZZIZ AL 20,000,000 *1.08/100 216
OZXStH+=Z HHISA
30,000,000& =1.08/100 324
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Y 2L B (Otal &) (J1EHDJIE) 20,740 21,250 A510

Jl=&dl 20,740 21,250 A510

234 20,740 21,250 A510

201 L Er2A | 8,140 8,650 2510

01 At 22l bl 8,140 8,650 A510
Oget+=gH| 8,140,000 8,140

202 04l 3,000 3,000 0

01 S LHOYI 3,000 3,000 0
Ozt ¢l 3,000,000 3,000

203 ¥R =&l 9,600 9,600 0

01 J22ggR=aH 6,600 6,600 0
og 6,600,000 6,600

04 EMSEY R 3,000 3,000 0
ORN2EERFAH 3,000,000& 3,000
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2H: Hgd
M AMBMYIA S (U TIUN /UBHT)
C©el: AMBM™IN 29 (SHel: =)
SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
| | | SEEE] 33,600,0002 33,600
ATS NANL(ZELNANL /XN HUTAI) 420,000 370,000 50,000
FOHOAL 25 420,000 370,000 50,000
AXSHEL A 50,000 50,000 0
401 A2 HI 2L S TH| 50,000 50,000 0
01 Al&Hl 49,460 49,460 0
OYxe HE2: AY 49,460,000 49,460
03 Al& S Tl 540 540 0
OYZXS MWE2 AL 50,000,000 *1.08/100 540
AR Fo=A AY 150,000 150,000 0
401 Al HI L S TH| 150,000 150,000 0
01 Al&H] 148,380 148,380 0
Ogs+22 43 29.,676,0002 29,676
OadE H&= 29,676,000 29,676
O%l =252 X 29,676,000 29,676
Omst =25 T % 29,676,000 29,676
OWXl Drserz = 29,676,000 29,676
03 Al & =0Hbl 1,620 1,620 0
OgE+22 &3 30,000,000 *1.08/100 324
Oatd N&= 30,000,000 *1.08/100 324
O%l =25 T% 30,000,000 *1.08/100 324
OHst S22 T & 30,000,000 *1.08/100 324
OMHXl DSQt2 ®Hl 30,000,000 *1.08/100 324
FOIGOALY 220,000 170,000 50,000
401 A2 HI L 2 TH| 220,000 170,000 50,000
01 Al& bl 217,624 168,488 49,136
Ooke| o2 HH| 24,730,000 24,730
2UOIS 42 WER 39,568,000 39,568
ORHET+2 &3 29,676,000 29,676
OUNE 242 &1 29,676,000 29,676
OSg0l &I 29.,676,0002 29,676
OatZs o2l 44,514,000 44,514
OU28C2 S2EE 19,784,000 19,784
03 Al& 5 ChHl 2,376 1,512 864
O] o2 HH| 25,000,000 *1.08/100 270
OBUOIS 42 WER
40,000,000 *1.08/100 432
ORIEET+2 &3 30,000,000 *1.08/100 324
OMME 242 &% 30,000,000 +1.08/100 324
Osgol B&X 30,000,000 *1.08/100 324
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Sl EOIMOAML =5 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Oatxg et EHH| 45,000,000 %1.08/100 486
Odzetc2 s2Z & 20,000,000& *1.08/100 216
HY2AZHI (Y H)(JIEHIIE 20,740 21,250 A510
Jl=234l 20,740 21,250 A510
Jl23Hl 20,740 21,250 A510
201 Let24d] 8,140 8,650 A510
01 At 22l 8,140 8,650 A510
Ogt=&H| 8,140,000 8,140
202 oddl 3,000 3,000 0
01 = LH 4 1l 3,000 3,000 0
O2&2| o Hi 3,000,000 3,000
203 YR =2l 9,600 9,600 0
01 JI22H =8 6,600 6,600 0
OosE 6,600,000 6,600
04 EAN2IHR2F=EHI 3,000 3,000 0
ORN2IYS A 3,000,000& 3,000
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Y. B (3H) - HEAY - BES o A o SSa H RS2
HOoAlAE &5 442,093 381,986 60, 107
AXIMNE S A 50,000 50,000 0
401 Al B2 2 0HHI 50,000 50,000 0
01 A& HI 49,460 49,460 0
O9xX=2 HES AFY 49,460,000 49,460
03 AlE 2 0] 540 540 0
OEXZ2 M2 Al 50,000,000 *1.08/100 540
ARS TS ALY 150,000 150,000 0
401 Al HI L 200 150,000 150,000 0
01 A& HI 148,380 148,542 N 162
O3y 82 &X 29,676,000& 29,676
O s2ZH 24,730,000 24,730
O3J] th=2 &X 24,730,000& 24,730
OR=" =2 81 H 24,730,000 24,730
ogd=x17? sg &2 & 24,730,000& 24,730
O s=2 L& 19,784 ,000& 19,784
03 Al& 201 Y] 1,620 1,458 162
O3y 82 &X 30,000,000& x1.08/100 324
OFH s2ZH 25,000,000 =1.08/100 270
Os3J| =2 &X 25,000,000 *1.08/100 270
OR= =2 L1 H 25,000,000 *1.08/100 270
Og=a12 =2 LA 25000,000& *1.08/100 270
O-u27? s2 2 H 20,000,0002 %1.08/100 216
FOHAAS 230,000 170,000 60,000
401 Al HI L 2 0HHI 230,000 170,000 60,000
01 A& HI 227,516 168,488 59,028
O&X27 H&EEH 19,784 ,000& 19,784
Odl= = S & 19,784 ,000& 19,784
O = NS 24,730,000& 24,730
O&Hd =2 &X 19,784 ,000& 19,784
ON337 Nz sxHE 24,730,000& 24,730
O}fz1z =2& &1 19,784 ,000& 19,784
O8I sg &1 & 24,730,000& 24,730
OgHE2 FE A 19,784,000& 19,784
==L 222 Y| 24,730,000& 24,730
Od&H2 &dH =4 29,676,000 29,676
03 Al& 201 Y] 2,484 1,512 972
OgX27 MEA 20,000,000 *1.08/100 216
Ol s2 1 H 20,000,000 =1.08/100 216
O = STH 25,000,000 *1.08/100 270
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Sl EOIMOAML =5 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFd == &X 20,000,000 =1.08/100 216
OnE37 Mgz &2
25,000,000 *1.08/100 270
OJtz17 =22 &x 20,000,000 =1.08/100 216
O2EI1? =8 X & 25,000,000 *1.08/100 270
OgH2x HUE &HHl 20,000,000 *1.08/100 216
Oz2%4+d 842 I
25,000,000 *1.08/100 270
O&d&13 & =4 30,000,000 x1.08/100 324
Hs3d 2el 12,093 11,986 107
101 14l 1,593 1,486 107
4 JI12ZtHZ22HEE =+ 1,593 1,486 107
OMsS3Id 2l U2 1,593
—Jlas 41,680 «1H 292 1,209
—F5d 41,6803 x1H+5L 209
— 428 = 1,418,000& *12.3% 175
206 M= Hl 500 500 0
01 =4l 500 500 0
OM=s3d &2 94X 2 500,000 500
401 AIEHI L 2 CHYI 10,000 10,000 0
01 A& HI 10,000 10,000 0
OMsS33 22 AtY 10,000, 000& 10,000
HE2AZH(EFH)(IIEH/IIE) 20,740 20,740 0
Jl23&dl 20,740 20,740 0
JlE2&l 20,740 20,740 0
201 Let2d] 8,140 8,140 0
01 At 22l 8,140 8,140 0
Oget=&H| 8,140,000 8,140
202 O4dl 3,000 3,000 0
01 = LH 4 Hi 3,000 3,000 0
O22 Kbl 3,000,000& 3,000
203 YR =& 9,600 9,600 0
01 )22 =4 6,600 6,600 0
ogd 6,600,000& 6,600
04 FENSELR=LH| 3,000 3,000 0
OFRN2IEYS =2 3,000,000& 3,000
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